Solving Rational Equations — Intermediate Algebra

Steps to solve:

1. State what values should be excluded by finding the domain of each expression.

2. Multiply both sides of the equation by the least common denominator.
3. Solve the remaining equation.

4. Check the answer(s) in the original equation.

Examples: Solve the rational equation.
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Example: It takes a garden hose 48 hours to fill a backyard pool. A fire hydrant can fill the same pool in
20 hours. How long will it take to fill the pool if both the garden hose and the fire hydrant are used?
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Example: Jim working alone can paint a house in 30 hours. Mary working alone can paint a house in 24
hours. How long will it take if Jim and Mary work together to paint that house?
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